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PHYSICS
1. e fawoo &1 @et 3v9 wW HHA-T 2 2 1. What is the correct ascending order for
frequencies of the following radiations ?
(1) = (1) Visible
(2) X-faoi (2) X-rays
(3) wu-r (3) Ultra-violet
(4) Femr-aai (4) Radiowaves
(@ 1,3, 24 (@ 1,3,2, 4
(b) 3,2,4,1 (b) 3,2, 4,1
(c) 41,32 (c) 41,32
(d) 4,312 (d) 4,3,1,2

. In an atomic explosion, enormous energy is

released which is due to the :
(1) Conversion of neutrons into protons

(2) Conversion of chemical energy into heat
energy

(3) Conversion of mechanical energy into Nuclear
energy

(4) Conversion of mass into energy

. The displacement-time graph of a moving particle

is shown below :

A

3

The instantaneous velocity of the particle is
negative at the point ?
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4. The figure given below is a plot of lines of force

due to two Charges q, and q,. Figure out the
Sign of the two. Charges :

2L

(1) both positive
(2) both negative
(3) q,positive and q,negative

(4) g,negative and q, positive

. Two bulbs X and Y painted black and white
respectively are filled with air and connected by
a U tube partly filled with alcohol. What happens
to levels of alcohol in the limbs X and Y. When
an electric bulb placed mid way between the
bulbs is lighted :

(1) 3 X iR Y forea@ & wesles &1 w1 78 9w
(2) X ¥ wg S vafE Y § w2 wmm

(3) X = SEm W& Y § 5 S

(4) A fore@ | Uoled & W H HIE =R T8
qem |

(1) The level of alcohol falls in both the limbs

(2) The level of alcohol in limb X rises while that
in limb Y falls

(3) The level of alcohol in limb X falls while that
inY rises

(4) There is no change in the levels of alcohol in
the two limbs



6. ®rE =afi fareht 33 Im @ difga @ | i fom @ =
wIFAWMAT IR

feom 4
F UWree

{
i Feu]

e el

(1) Fre gfe am
(2) T3
(3) =ifean fag
(4) ufen e

T-geg ME ° 3 e A 3R B fammeen § us €@
TE TRt I fEA I sR-w s ad ? 2

e

£l
3

Towe —2

(1) aEAB 1 AT TRAA S A A TR 2 |
(2) A U B ©R0T W SRR |
(3) BHRITRIAS &R0 4 SR ¢ |

(4) A T B & ©U F UM HH R W TG
we

6. A person is suffering from some sight problem.
From the given diagram say which defect he
suffers from ?

e fon o 7

1) Myopia

(

(2) Hyper metropia
(3) Cataract

(4) Astig matism

7. V-F graph of two vehicles Aand B starting at the
same time from rest is given as under. Which of
the following statements can be deduced from
the graph as correct ?

T o
P P

Velocx

Tuwe —2

(1) Velocity of B is higher than that of A.
(2) Acceleration of A is higher than that of B.
(3) Acceleration of B is higher than that of A.

(4) Acceleration of A is increasing at a slower
rate than that of B.
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8. Amagnet NS is placed along the axis of a circular

coil. The magnet is moved away from the coil.
The induced current in the coil is :

n

Cm[’

(1) Zero
(2) Clockwise
(3) Anti-clockwise

(4) None of these

. The uncharged Metallic Sphere X suspended as

shown in figure. The Metallic sphere is given a
push so that it moves towards the +ve plate.
Which of the foilowing statement is correct ?
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(1) X touches the +ve plate and remains in
contact with it.

(2) Xtouches +ve plate and then moves towards
negative plate and remains in contact with it.

(3) X moves to and fro between the two plates
with a constant time pericd.

(4) X moves to and fro between the two plates
with an increasing time period.
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10. The variation of density of water with temperature
is represented by the curve is :

4)

11. Which one of the following represents correct
path of a ray of light through a glass prism :
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If a bar magnet accidently breaks up into two
parts. The polarity of ends A, B, C & D will be :

s

o Lg o

L] C 2D

N\e

ﬂ [ ]

(1) A, B North poles, C, D South poles
(2) A, C North poles, B, D South poles
(3) A, B, C North poles, D South poles

(4) A North pole, D South pole. Polarity of B
and C cannot be determined :

The device used to convertA.C. into D.C.is:
(1) ammeter

(2) galvanometer

(3) rectifier

(4) transformer

In the visible spectrum, the colour having shortest
wavelengthis

(1) Red
(2) Yellow

" (3) Blue

15.

16.

(4) Violet

The most intense man-made light source is :
(1) Laser

(2) LED

(3) Maser

(4) Mercury Vapour Lamp

The bill of Electric consumption is based on the
measurement of :

(1) current
(2) voltage
(3) wattage

(4) none of these



17.

18.

19.

20.

21

22.

TR ¥ Aed W@ o A gak €, a s ae
FH AR | THFH FROT R

(1) Ut F1 =

(2) IETET T

(3) W F |

(4) Wit 1 gag-faama

;réf‘wﬁ;ﬁ g fHowl @f@ & e w1 &
(1) 9=H
(2) o-=u
(3) TRHA
(4) =ggH

% T S 3mafad geRter &1 SMiferes ®9 9 freer
M | FEET R

(1) srd-BEE

(2) FraEgW

(3) IERE®

(4) nfer aRERl®

=0 9 fFg & FR0, gEYUrE 9 9 S 9ae W @l
T Sfen =i, T AR

(1) Ea& 7=

(2) wera

(3) T3 = fram

(4) smrfafes =1 fagra

R ufy o fen-fou @d #, Swe wnm 2, 6 .
(1) 3 ARG YHW Bed &

(2) TR 1 FAGHUSH AT TR FHI SFFIEU]
F@

(3) YAt 1 AYHUEE ITFERA YHTY HT STAINGO]
F

(4) T F SYAdH TONH FAE H T @l

2

feet o1 &1 3 S gEE 3 | fashte @, 999 @
1y fr= gy | gftrfeg g @ V=2 - 3t + 482,
ql 01 1 T9-999 WF BN

(1) X-3187 & SR et [an
(2) Y-3181 % TR G T
(3) TEe™

(4) T

17.

18.

19.

20.

21.

22.

When a bucket full of water is drowned in water,
its weight becomes less than before due to :

(1) Density of water

(2) Buoyancy force

(3) Pressure of water

(4) Surface tension of water

Which of the following cannot be accelerated in
a cyclotron :

(1) Proton
(2) a-particle
(3) Electron
(4)

A material that allows partial transmission of
incident light is called :

Neutron

(1) Semi-permeable
(2) Transducer
(3) Transparent
(4) Translucent

Due to which of the following a shaving blade
when placed gently on water floats ?

(1) Surface Tension

(2) Viscosity

(3) Law of floatation

(4) Archimedes'’ Principle

The stars twinkle in the night, because :
(1) Their emit light intermittently

(2) The star's atmosphere absorbs light
intermittently

(3) The earth’s atmosphere absorbs light
intermittently

(4) The refractive index of air in atmosphere
fluctuates

The velocity of particle moving with a uniform
speed changes with time according to the
relation V=2 -3t + 42 then v-t graph of the particle
isa:

(1) straightline paralle to X-axis

(2) a straightline parallel to Y-axis

(3) aparabola

(4) acircle



23, SN W TA F1 g2 WA A F | THH FROF

24

25.

26.

27.

28.

HAFA TE F1 FFE
TF F AR foan s atgh W ouE Wy s e
2 | |fgd 3 faan 9 3e= A # TeEE W
TFA E
(1) &S & GO, QR 361 0 F A6 W
(2) GO 9 O & HUR W
(3) U F IMUR W
(4) AR F YT W
fogqa ot #1 wF WA ¥ T WA 9 fawwm
Seu-fava el wfradr faga s % g e 2,
THH FA T
(1) foeE = svem =1 #8 F6 & fom
2) =1 =d W fazm famm &
(3) fagm 9 &1 911 1= # fom
(4) TE HT e #
w4 foedl = #1 45° F F01 W gF 2 FHAA F000
F T TEd ¥ A a5 F wiatawl w1 5ed 2o

I H sy w AT zE & amvan wfyw @ R,
FqifeF -

(1) 3 ° 3 frafaa €9 9 srafod e@ @

(2) 38 & ] T-TEA B

(3) & F W 359 B

(4) =7 | = T

T TS 1 THE AN e a1t =i Th 9y g9H
FuE § fmrn s 2 ) S S W oz, gty
A F T

10

23.

24.

25.

26.

27.

28.

Small liquid drops are spherical in shape
because

(1)
2)
(3)

of adhesion
of gravitational force

of the atmospheric pressure from all sides
of the drop

(4)

the liquid drops tend to have minimum
surface area due to surface tension

When the same note is played on a sitar and a
flute. The sound produced can be distinguished
from each other because of the difference in :

(1) Pitch, Loudness and quality
(2) Pitch and Loudness

(3) Quality only

(4) Loudnessonly

Distribution of electric power from one place to
another is done of high A.C. (Alternating Current)
Voltage, because :

(1) Wastage of electricity is minimised

(2) Thedistribution of power is economical
(3) Stealing of electric wires is prevented
(4) Itis safe to handle

When an object is placed between two mirrors
placed inclined to each other at an angle of 45°;
No. of images formed are :

(13
(2) 5
Q)7
(4) None of these

Speed of sound is greater in solids than in liquids,
because :

(1) The atoms in solids are regularly arranged
(2) The atoms in liquids are loosely packed
(3) The solids have high elasticity

(4) None of these

A piece of paper and a cricket ball and dropped
simultaneously from the same height. They will
strike the ground simultaneously, if they :

(1) have the same volume
2
3
4

(2) havethe same mass
(3) have the same density
(4)

are in vaccum
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The speed of light will be minimum while passing
through :

(1) Glass
) Air

(3) Water
(4) Vaccum

A Red object when seen through a thick blue
glass appears :

(1) Green

(2) Voilet

(3) Black

(4) Red

Electromagnatic Induction is used in :
1
2
3
4) Voltmeter

Galvanometer

)
) Thermo couple
) Generators

(
(
(
(
The law of conservation of Energy states that :

(1)
@)

Energy can be created as well as destoryed

Energy can be created but

destroyed

not

(3) Energy cannot be created but can be

destroyed

(4) Energy can neither be created nor

destroyed

The bats are able to fly in dark since their wings
produce :

(1) Sound waves
(2) Ultrasonic waves
(3) Infra-red waves
(4) Ultra voilet rays

If a person can see on object clearly when it is
placed at 25 cm. away from him, he is suffering
from:

(1) myopia
(2) hyper metropia
(3) astigmatism

(4) none of these
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35. Choose the correct sequence :

37.

38.

39.

40.

(A) Intensity of light (1) Properties of the
mediums
(2) Refractive Index
of medium
(C) Velocity of light (3) Amplitude of light
(D) Propagation of light (4) Frequency of
light

(B), Colour of light

(1 2,413
(2 3,4 2,1
(3 3,124
4) 42,31

. A Pond is covered with a layer of ice and the

external temperature is —30°C. The temperature
of water in contact with lower surface of ice is :

(1) 4°C

(2) 0°C

(3) —15°C

(4) -30°C

An air bubble in water will act like a :

(1) Convex Mirror

(2) Concave Mirror

(3) Covexlens

(4) Concavelens

A vehicle moving on a circular path experiences :
(1) Inertia

(2) Centripetal force

(3) Gravitational pull of Earth

(4) Centrifugal force

The colour of the sky looks blue because :

(1) Sky is made up of blue colour particles
(2) Blue colour is of longer wave length

(3) Blue colour is more prominent in Sunlight

(4) Blue colour of light is of shorter wave length
so easily scattered by dust particles and
water vapour

An ice cube is floating in a glass of water. How
will the water level in the glass be affected when
the ice cube melts ?

(1) It will rise

(2) Itwillgo down

(3) Itwill remain unchanged

(4) It would first go up later on it will go down
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CHEMISTRY

Ao § @ IR T spet W ufaw S feEe 41. KE (Kinetic Energy) of molecules in gases is

FEE Bt @ 2 directly proportional to :
(1) draEA (1) Temperature
(2) T= (2) Pressure
(3) AUHH T I (3) Temperature & Pressure
(4) e g™ (4) Atmospheric Pressure
T Q F T gy e ? 2 42. Which of the following is not an endothermic
process ?
(1) e (1) Fusion
(2) e (2) Transpiration
(3) vaEA (3) Respiration
(4) SeEdEA (4) Sublimation
“ Arg- T W T 43. Bose-Einstein Condensate have :
(1) T yfeee “=ot g ® ®9 o ygad g Hl (1) Ability to be used as model black-hole
Aoy
(2) 9ga I== a9HA W A (2) Existence at very high temperature
(3) EW—W AT (3) Isolated gaseous atoms
(4) I=a wfas St (4) High Kinetic Energy
44. /& 500 oM. v TehRd (I5) 500 fac o 44. When 500 ML. ethylalcohol (pure) is mixed in 500
(9%) o foemn s 2, @ fason =61 sad e ML. Water (pure), the volume of the mixture will
be:
(1) 1.0 (1) 1.0L
(2) 1.0 9 FH (2) Lessthan1.0L
(3) fagmia (3) Immiscible
(@) 1.0 = 3 A (4) Morethan1.0L

13
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(3) Mg
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(4) Mn

T 1 F TEAEE A w7

45. Which of the following cannot be separated by

46.

47

48.

49

50

sublimation ?
(1) lodine and common salt
(2) lodine and Ammonium chloride
(3) Camphor and common salt
(4) Naphthalene and sand
Which of the following statement is not correct ?
(1) Milk is an example colloidal solution
(2) Colloidal solution shows electro phoresis
(3) colloidal solution is homogeneous mixture
(4) Sky 1s blue due to Tyndall effect
A mixture of blue ink and red ink can be separated
Dy
(1) evaporation
(2) distillation
(3) Chromatography
(4) Steam distillation

Which of them is solid at room temperature but
becomes liquid in the palm ?

(4) Ga

Which metal is present in Vit-B12 ?



51. HH-T1 ggo Sa- g 7 2
(1) HDP
@ LDP
3) PVC

4) PLA

52. gftm (NH,CONH,) & T1srsr =1 wfaerd & &

(1) 23.3%
(2) 46.7%
(3) 69.9%
(4) 11.66%
53. HHA-W | Hie AR F A FEl g g 2
(1) STP®N, %1 224 .
(2) s ®1 28 TH
(3) 6.022 x 10% ATELSHA A
(4) STP W N, 122400 F.41.
54. HH-H Falfuew HeAriEE TEd € 2
(1) CNG
2) LPG
(3) H,gas

(4) PNG

55. T @ -7 FHW 9 & fou vy e 2 2

(1) Agl
(2) NaCl
(3) CaCo,

(4) CaCl,

51. Which polymer is biodegradable ?
(1) HDP
(2) LDP
3y PVC
(4) PLA
52. Percentage of nitrogen in urea (NH,CONH,) is
(1) 23.3%
(2) 46.7%
(3) 69.9%
(4) 11.66%
53. Which does not equal to 1 mole of nitrogen gas ?
(1) 224 Lof N,at STP
(2) 28 gofnitrogen
(3) 6.022 x 10% nitrogen atoms
(4) 22400 c.c of N,atSTP
54. Which one has highest calorific value ?
(1) CNG
(2) LPG
(3) H,-gas
(4) PNG
55. Which one of the following is used for artificial rains ?
(1) Agl
(2) NacCl
(3) CaCo,

(4) CaCl,
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58.

(1) NO—3=rfA afferasS

(2) CIO,—3r<ia e

(3) MgO—=amita stfFaTes

(4) PO, —&miy sifamEs

e wem 4§ 2

(1) T ZE0T Y AR T I

(2) g YEUT I HGR 1 I

(3) Ervat & ITwa I WG H YA
(4) CNG #} I9men I A9+ =1 I
#ferre =1 32 amu @ @ :

(1) #feram v % 8 WE

(2) #femm = 8 Ty

(3) &femm & 8 x 6.022 x 102 YA

(4) 16 317

56. Choose the incorrect pair :

(1) NO—Neutral oxide
(2) ClI,0,—Acidic oxide
(3) MgO—Basic Oxide

(4) PO, —Basic Oxide

57. What is cetane number ?

(1) Parameter to measure water pollution
(2) Parameter to measure air pollution
(3) Parameter to measure quality of diesel

(4) Parameter to measure quality of CNG

58. 32 amu of He contains :

(1) 8 moles of He-atoms
(2) 8 atoms of He
(3) 8 x6.022 x 10 atoms of He

(4) 16 molecules

59. T T@ ‘X' B TH THIY] H FTAE 2.65 x 102 59. The mass of single atom of an element ‘X' is
e ? X A 1 WHY] FEE U§ AW # 2.65 x 10-2g. The atomic mass and name of the

element ‘X' is :
(1) 16 p, oA (1) 16 p, Oxygen
(2) 32 p, 9w (2) 32y, sulphur
(3) 14 p, A (3) 14 p,, nitrogen
(4) 18 p, WA (4) 18 p,, Fluorine

60. TEL frm &9 & waiim g @ 2 60. TEL is used as :

(1) B IgHToT (1) Telephonic device
(2) ThH FHS (2) Antiknock agent
(3) = (3) Medicine
(4) @ WEw (4) Food preservative
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(1) NaOH

(2) Mg (OH),

(3) B(OH),

(4) AI(OH),

T ¥ FF galfus e § wE] W § ?

(1) 13 Co,
(2) 1 7mN,
(3) 17W O,
(4) 17 CH,
o fererent oraeh € 2

] | 9 R AT Aife it @ feeR @6t 2

(1) 3. g

(4) T W
23 T Gifeay uig & =ggHi w1 G = e @ ?
(1) 72.264 x 10%

(2) 6.022 x 102

Fee ufedi § FH-T1 9y g @ 2
(1) et I

(2) THT oA

(3) et T

(4) wien-gug 92

S/79 DTH/12—2A

61.

62.

63.

64.

65.

66.

Which is acidic in nature ?
(1) NaOH

(2) Mg (OH),

(3) B(OH),

(4) Al(OH),

Which of the following contains maximum number

of atoms ?
(1) 1gCo,
@) 1gN,
3) 190,
(4) 1gCH,
Galenais an ore of :
(1) Copper
(2) Zinc
(3) Lead
(4) Gallium
Who discovered the nucleus found in atom ?
(1) J.J. Thomson
(2) Goldstein
(3) Chadwick
(4) Rutherford
Number of neutrons in 23 g sodium metal is
(1) 72.264 x 102

(2) 6.022 x 102

Which cell is used in wrist watches :
(1) Leclanche cell
(2) Mercury cell
(3) Daniel cell

(4) Lead storage battery
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67. ¥ ok & HH- uig e S @ 2 67. Metal present in chloroplast is :
(1) @rer (1) Iron
(2) dran (2) Copper
(3) HriferEw (3) Magnesium
(4) FrEE (4) Cobalt
68. “3TMFEIA" F FH HH-T € ? 68. Which pair is of isotones :
1 2 1 2
Hewg H H H
(M) Hw (1) Hand
3 3 3 3
Hawg H Hand _H
@ |H i He @) Hand_He
3 4 3 4
H i _H H d _He
(3) ,"e w ,he (B) 5 SE08,
3 4 3 4
H i H Hand _H
@ 47 W TE (4 ,Hand He
69. HA-H FR & foTw Terd FwH R ? 69. Which is incorrect order of size ?
(1) Na>Na+ (1) Na>Na+
(2) Na*>Mg?* (2) Na'>Mg?+
®3) ¢l >cl @3) ci>cl
_ o _ o
F F
@ F>"g @ F>'g

70. ‘A 9 & U 9 WEH, 9 3AEA R 10 FH 9fd 70. ‘A" element has 9 protons, 9 electrons and 10

] € 1B dd ® 9" 12 WeH, 12 seeE 3R neutrons, per atom ‘B’ element has 12 protons,
12 gzH gfa wm) € | d ‘A Td ‘B’ s o A 12 electrons and 12 neutrons per atom. Formula
Afiter 1 g 1 2 2 of compound between ‘A’ and ‘B’ will be :

(1) BA, (1) BA,

(2) AB, (2) AB,

) BA, 3) BA,

4) AB, 4) AB,

S/79DTH/12—2B



71.

72.

73.

74.

75.

ot w9 @ e e w2
(1) H,0 (i)

(2) CO,+H,

(3) CH,+H,0

(4) CO+H,

e e & fam ® e & fau sh-a @A
foreman s @ 2

(1) H,S (FEFH TewTEE)
(2) 3URA WHA

(3) TEH T RS

@) = Ya

e & fore geres o wiF-w1 WA afstya fea
SR ?

(1) wfezm a=ige

(2) fway

(3) foarfm-t

(4) wifezm feate

forelt TETY W U SeRE e e R 2
(1) B3 RUTHS

(2) WA YATHF

(3) WA

(4) I gt

T FHA AT

(a) Ofra urg smede @ aifufwran & wifes
FFREE TR T |

(b) wnfrre smeEe WY@ H & ek € |
a2 fasey T :

(1) % (a) TE (b) & 2 |

(2) F (a) Td (b) T B |

(3) F¥A (a) WEl ? 3R (b) Terd ¥

(4) F¥A (a) T ® R (b) WA ¥
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7.

72.

73.

74.

75.

Chemically the “water gas” is :
(1) H,O(gaseous)
(2) CO,+H,
(3) CH,+H,0
(4) CO+H,

Which chemical is mixed in LPG to detect its
leakage ?

(1) H,S (Hydrogen sulphide)
(2) Ethylmercaptan

(3) Sulphurdioxide

(4) Biogas

Which chemical is blended in butter for
preservation ?

(1) Sodium benzoate
(20 BHA
(3) Vitamin-C
(4) Sodium stearate
The energy of an electron is an atom is :
(1) Always negative
(2) Always positive
(3) Always zero
(4) Allof the above
Given below are two statements :

(a) Reactive metals react with oxygen forming
metallic oxide

(b) Metallic oxides are basic in nature :
Choose correct option :
(1) Statements (a) and (b) are correct
(2) Statements (a) and (b) are incorrect
(3) Statement (a) is correct and (b) is incorrect

(4) Statement (a) is incorrect and (b) is correct



76. 7 fauea aret @ ¥ aTe a9 | R ag@sd @

TR A9 B 7 2
(1) 2w
(2) CFC
(3) PVC

(4) LDP

77. HH-91 qgeH GYATTG A H TWe w4 g & 2

(1) Tm

(2) =rEET-66

(3) ufswferh sgeh
(4) HeTE TETF

78. 9 FH-T U Ha-Frfeoia sges 7@ 2 2

(1) PHBV
(2) HDP
(3) PLA

(4) PGA

79. ‘<ften eiten’ =1 TamAfTE g3 = Ea R ?

(1) Na,SO4.10H,0
(2) ZnSO, 7 H,,
(3) FeSO, 7H,.

(4) CuSO,5H,0

80. 379 q FF-T1 TF SAH T TE § 2

(1) LPG
+(2) PNG
(3) TNG

(4) CNG

20

76.

77.

(™

78.

79.

80.

In non-sticky cookares, which polymer is

coated ?

(1) Teflon

(2) CFC

(3) PVC

(4) LDP

Which polymer is used as synthetic wool ?
Rayon

(2) Nylon-66

(3) Acrylic polymer

(4) Melmac polymer

Which is not a biodegradable polymer ?
(1) PH BV

(2) HDP

(3) PLA

(4) PGA

The chemical formula of blue vitriol is :
(1) Na,S04.10H,0

(2) ZnSO,.7H,,

(3) FeSO,.7H,,

(4) CuSO,5H,0

Which of the followoing is not a fossil fuel ?
(1) LPG

(2) PNG
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Part-ill

iy famm
BIOLOGY

81. fafsra woeht gad=  :
(1) woeh dav uH & g fean o @
(2) woe w2 witeire T o &

(3) 5 - 6 WS W whviw N TN o @ ford
IR & ford wfaeqyt = &

(4) ST | ¥ Hg TE
82. ¥ IARA HI 9@d F Fed ¢ :
(1) Tl wf
(2) da st
(3) "®g FIf=
(4) el wf=

83. T Hifvh! af faorad ¥ Ted W oot 9 8, @ 9%
oo -

(1) STEIYRROT et
(2) sfeaTERe gt
(3) THITHRO e
(4) <= (1) q=m (2)

g4, et d A ST T s R ?

(1) dwE (FBAT) - SR
(2) T - e
(3) waAfwn G
(4) wiomig (eefi wig) — AR

81. In composite Fish Culture :
(1) Fish culture is done with a rice crop
(2) Two species of fish are selected

(3) 5-6 Fish species are selected which do not
compete for food

(4) None of the above
82. Increase in oil production is called :
(1) Golden revolution
(2) Yellow revolution
(3) White revolution
(4) Blue revolution

83. Acell placed in a solution swells up. The solution
is :

(1) Hypotonic

(2) Hypertonic

(3) Isotonic

(4) Both (1)and (2)

84. Which of the following is a mismatch :

(1) Leprosy —  Bacteria
(2) AIDS - Bactelia
(3) Malaria - Protozoa
(4) Elephantiasis - Namatode



85. TaTeery Fw avawen &, fow
(1) o R W @
(2) wrEfEs IR W @
(3) T AR T
(4) ST qsft

86. =1 § ¥ wems wm TE 2

87. =% foran o a1 & a1v] Furifenss wroT=r faeedt g

3= 9 H FiEa ® 1 I F wigan F R I
TRFE
(1) T
(2) TSIt
(3) fomm
(4) SwE | o g TE
88. a% FIYr e R SrreHE et e ¥
(1) TSt sy
(2) @fes
(3) k=t snferat
(4) wnEEEm

89.

(1) F3 g @

(2) DNA®m?

(3) TEarEm B ¥
(4) (2) a=n (3) A
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85. Health is a state of :
(1) Physically well
(2) Mentally well
(3) Socially well
(4) Allthe above
86. Which one is not a infectious desease :
(1) common cold
(2) Tuberculosis
(3) Cancer
(4) Cholera

87. The process in which water molecules moves from
a high water concentration to a region of low water
concentration through a semi-permeable
membrane is known as :

(1) Osmosis
(2) Transpiration
(3) Diffusion
(4) None of the above
88. Cell organell known as suicide bags :
(1) Golgi apparatus
(2) Plastid
(3) Endoplasmireticulum
(4) Lysosome

89. Mitochondria are strange organelles as they have
their own :

..(1) Nucleus
(2) DNA
(3) Ribosome

(4) (2)and (3) both
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90. =t § @ F-w favwaias & 2 - 90. Which one is not a meristematic tissue :
(1) e fvaiaen (1) Apical meristem
(2) wArTH (2) Phloem
(3) =fam (3) Cambium
(4) safie favearas (4) Intercalary meristem
91. =1 & Q@ FH-T Faw 2 : 91. Which one is not a tissue :
(1) = (1) Blood
(2) i (2) Muscle
3) #3=F (3) Nucleus
(4) STEEH (4) Xylem
92. TV T WA H AHERT H 92. Label the part

(1) 2zmwe (1) Dendrite
(2) df=en g (2) Nerveending
(3) Hiferh1 wr - | (3) Cell body
(4) dfe (4) Axon
93. AN "Bl 1 Hafeq & 2 93. Starfish belongs to phylum :
(1) HieT=H (1) Mollusca
(2) dHe= (2) Coelenterate
(3) smytdrer (3) Arthropoda

(4) sHEASHA (4) Echinodermata



04. eAfosg Hafaa € - 94. Ulothrix belongs to -
(1) SerTEa (1) Thallophyta
(2) eFHTE (2) Amoeba
(3) AT (3) Bryophyta
(4) 3T | 9 w1 Tl (4) None of the above
95, FATST W U I 95. Plants with naked seeds are found in .
(1) FAETZ (1) Bryophyta
(2) foered (2) Gymnosperm
(3) ufsared (3) Angiosperm
(4) 2T (4) Pteridophyta
96. HHEH 79 T 2 96. Chromosomes are made up of :
(1) DNA (1) DNA
(2) WA (2) Protein
(3) DNA der Wt (3) DNA and Protein
(4) RNA (4) RNA
97. HTq ArSal ? 97. Tendon is a structure which connects :
(1) sfrg =1 sAfrar | (1) Bone with bone
(2) wrguet =1 e 7 (2) Muscle with bone
(3) dfsrepr =1 avh | (3) Nerve with muscle
(4) TrEYST F ArIE 9 (4) Muscle with muscle
98, f=1 o | FE-T S rEEATd 9 2 98. Who is not a cold blooded animal :
(1) =g=n (1) Turtle
(2) =ImmeE (2) Bat
(3) @ (3) Snake

(4) feumet (4) Lizard



101.

102.

103.

104.

(4) facei

It 98 ugfd ¥ wg 26 €

(1) =i 3R =g

(2) 9 3R e

(3) frw 3R wiis

(4) “rTE 3R A

ool § 79 deF &1 99 & fafa= g qw wee
P UFA H FEA E

99. Neem treeis :
(1) Annual
(2) Binneal
(3) Shrub
(4) Perrineal
100. Mammals who do not give birth to young ones
(1) Echidna
(2) Bat
(3) Rat
(4) Cat
101. System of Scientific naming includes .
(1) Phylum and genus
(2) Class and species
(3) Genus and species
(4) Genus and class

102. The process of carrying food from leaves to other
parts of a plant is called :

(1) Transpiration
(2) Translocation
(3) Transpcrtation
(4) Transformation
103. Inanaerobic respiration pyruvate is converted into :
(1) ethanol
(2) CO,
(3) acetic acid
(4) lactic acid
104. Filteration unit of kidney is :
(1) uretor
(2) urethra
(3) neuron

(4) nephron



105.

106.

107.

108.

109.

iﬁﬂﬁ'crcfwfﬂﬁ%

(4) ST | A HIE T

et § | - i g R 2
(1) DOT

(2) frums e

(3) TEHfAfTaH HEwTES

(4) eiifem SRaRES

S F qE 9 S AH & qvE 9 H gRafaa
kS

(1) o

(2) Wiy

(3) e

(4) IWaa ® 9 Hg Tl

wfaw w7 &1 fagrma g @ @ -
(1) Hea

105.

106.

107.

108.

109.

Cochlea is related to :

(1) ear

(2) nose

(3) tongue

(4) eye

Peptic ulcer is caused by :
(1) Helicobacter pylori

(2) Trypanosoma

(3) Staphylococci

(4) None of the above
Which of the following is gaseous fumigant ?
(1) DOT

(2) methyl bromide

(3) aluminium phosphide
(4) ethylene dichloride

The part of seed which grows into root on
germination :

(1) cotyledon

(2) Plumule

(3) radicle

(4) none of the above

Theory of Natural Selection is given by :
(1) Mendel

(2) Lamark

(3) Newton

(4) Darwin



110. Wrpfas "anyAl # gt @ & ford f7 R's 3§

111

TR E

(1) T30, JOREH, 3

(2) difqa 3w, g9, THSTEm

(3 mm,ga:m,gw:m

(@) 3 (1) 3k (2)

I < F orafy & ford B9 &, 5= wwd ¥

(1) Srdemfes I
(2) &
(3) TmSE T

(4) ST ¥ Q HIE TE

12 & 9 < T F R @ R qE I

W%,#m%:
(1) WrEES
(2) weSiEt

(3) fa=et
(4) ST geft

114. 9 ® gator fafy &1 3 @ ©

110. The three R’s which can help to conserve natural

1.

112.

113.

114.

resources :

(1) recycle, regenerate, reuse
(2) reduce, recycle, reuse

(3) reduce, reuse, redistribute
(4) Both(1)and(2)

The diseases last for only very short period of
time is known as :

(1) chronic disease
(2) acute disease

(3) Infectious disease
(4) None of the above

The animals carrying the infecting agents from a
sick person to other are called :

(1) Vector

(2) Parasite

(3) host

(4) Infection

Causing storage losses to agricultural produce :
(1) Insects

(2) Rodents

(3) Mites

(4) Allthe above

In Plant Hybridisation crossing is done between :
(1) Intervarietal

(2) Interspecific

(3) Intergeneric

(4) Allthe above



115.

116.

117.

118.

119.

120.

fe1 d 9 SF- gan vives a2

@d § Huar @ frafea sewe & sqer fafv=
A % ITH I FEd ¢

(3) T

(4) 3T H W FTE TR
fAd M esa R .
(1) CO,

(3) W

(4) it

= § A FH-T e qyHee § 2
(1) ufew e

(2) ufem =T

(3) ufrw vt

(4) tfow e
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115.

116.

117.

118.

119.

120.

Which of the following is a micronutrient ?
(1) Nitrogen

(2) Phosphorus

(3) Copper

(4) Sulphur

Growing of different crops on a piece of land in a
pre-planned succession is known as :

(1) Inter cropping

(2) Crop rotation

(3) Hybridisation

(4) None of the above

One of the following is a green House gas :

(1) CO,

In Nitrogen cycle which bacteria is responsible
for nitrification :

(1) Rhizobium

(2) Clostridium

(3) Nitrosomonas

(4) None of the above

Leghornis a improved variety of :
(1) Fish

(2) Cow

(3) Sheep

(4) Fowl

Which of the following is a rock bee ?
(1) Apis dorsata

(2) Apiscerana

(3) Apis florae

(4) Apis mellifera
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Part-IlvV
K1 G

MATHEMATICS

6 6
———= =3J2 -av6 3 ——= =3Vy2 -2aVb
2L AR 3573 2, @ a 1 °F 1216 35 _2 /3 , then the value of

122.

@) —2J3

(x+y)' (X +y!) FHAAE |

(4) (xy)' (x +y)'

A gaE xF A E

M <"y
@ X xx'
@B) Yx*)'s

1

@ (W)

ails .

(3) 23
@) —2J3

122. Value of (x + y)' (x" +yT)is :

4) (xy)" (x+y)!

123. Which of the following is equal to x ?
M« -yt
@ X" oxf

€)) 12/()(4 )}é

1

@ (V)
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i24. aEfa § AB 7en CD fag O W i A @ ¥ | 124. In the figure, AB and CD intersect at O. The value
XFHA R | of xis :

(1) 32 (1) 32
(2) 42 (2) 42
(3) 48 (3) 48
4) % (4) %
125. THfa & AB = BD dem AD = DC %, ai 125. Iix the figure, AB = BD and AD = DC, then
ZBAC: ZACB =" | ZBAC : ZACB is :
A A
N\ \L
5] D C B D
1) 1:2 1) 1:2
@ 2:1 ) 2:1
3) 1:3 3)1:3
4 3:1 4) 3:1
126. 60 m IR a7 T9aTg IS F1 &AEA T 126. The perimeter of an equilateral triangle is 60 m.
Its area will be :
(1) 5/3m’ (1) 5V3m’
(2) 253 m? 2) 25V3m?
(3) 100v3 m? (3) 100v3 m?

(4) 20043 m? (4) 20043 m?
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127. 13cmy= 3R 10cm & T fawol It ga=gys 127. Area of a rhombus whose one side is 13 cm and

FT GBS FA one of the diagonals is 10 cm is :
(1) 36cm? (1) 36cm?
(2) 52cm? (2) 52 cm?
(3) 60cm? (3) 60cm?
(4) 120cm? (4) 120 cm?
128 ABCDE, %% O ad ga & =rid a1 Jayd 128. AB C D E is a pentagon inscribed in a circle with
%1 LABC + LCDE ®m : " centre O. ZABC + ZCDE will be : .
(1) 108° e D (1) 108° ) D
2) 180° (2) 180° m
(3) 270° A ) E @2 A = 4
(4) 360° (4) 360° u
129. BrAfHa WHT F1 HAESA SN : 129. Area of the shaded region is .
— 14 tm 14 tn oy ey P
(1) 154 cm? (1) 154cm*
(2) 231cm? (2) 231cm?
(3) 462 cm? (3) 462cm?
(4) 616 cm? (4) 616cm?
130. 9. cm Y A 1 & IR HHAI Q2 cm Y H 130. Square pieces of side 2 cm are cut off from each
FR T | TS G fHR H IR AR A corner of a square sheet of side 9 cm. The flaps
& gen fesan a1 fowen emaaA & of the sheet so formed are folded to form an open
box. The volume of the box is :
(1) 20cm? (1) 20cm?
(2) 28cm? (2) 28cm?
(3) 50cm? (3) 50cm?®

(4) 98cm® (4) 98 cm?



(98]
(89

2 5
1 3 1 ( 1\' 1
131. uﬁ[hg) =3 @ a3+a—3 F1 9E B 131_|f[\a+—éJ =3 the value of a“; will be -

Mo (10
(2) -243 @) -243
(3) 343 (3) 33
@) 643 @) 643
132, A% FETET ax® + 4x + 3x—4 7T xX—4x+a F1 132 If the polynomials ax® + 4x? + 3x—4 and x> —4x + a
x — 3, 9 fA9sia #31 W I9Ee WHE S 2, A a leave the same remainder when divided by x — 3,
F1 9E B : then the value of a is :
M1 (1) 1
@y =1 () =1
19 19
3) 12 Ry
- 5 =5
@ @ 35
133. = PORS ¥ 7% P(1,0),Q(4.0) 1 S(1.3)%. 133 Inasquare PQRS, ifP(1,0), Q (4,0)and S(1, 3),
@ fag R % frdwas =t | then the coordinates of point R will be :
(1) 4.7 (1) (4.1)
@ (4.4) (2) (4,4)
() (3.4) (3) (3.4)
@) (4.3) (4) (4,3)
134. 3mpfa # fag O g9 &1 %= ¢, @ LTRQ MM : 134. In the figure, if O is the centre of the circle, then
ZTRQis
S S
T T
45. l'lo. qu llgb.
p o aQ = p ) a R
(1) 25° (1) 25°
(2) 35° (2) 35°
(3) 45° (3) 45°

(4) 70° @ 70°



135.

136.

137.

138.

& ferr &€ & fFami &t 99 50 cm, 120 cm
AMI0cm 2 1900 & T T mAA AW U=
FIA WG W :

(1) Rs. 27

) Rs.270

(3) Rs.540

(4) Rs. 27000

e 18 & vt UGS w1 T R
(1) 4.25

(2) 5.0

(3) 6.5

@) 76

aFfa d af fag O g9 w1 &= &, @ x ¥ °A
wm

(1) 15
(2) 30
(3) 45
(4) 60

fFdft fag #1 x sw Ay 549 | 0 F99: 5 a4
42130 fag & frioms &

(1 6.4
2 (5.0)
(3) (0.4)

(4) (4.5

S/IT9DTH/12—3
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135. The edges of a triangular board are 50 cm,

120 cm and 130 cm. The cost of painting it at the
rate of Rs. 900 per m?is :

(1) Rs.27
(2) Rs.270
(3) Rs. 540
(4) Rs.27000

136. Mean of all the factors of 18 is

(1) 4.25
) 5.0
3) 65
@) 76

137. In the figure, if O is the centre of the circle, then

value of x is

(1) 15
(2) 30
(3) 45

(4) 60

138. The distances of a point from the x-axis and the

y-axis are 5 and 4 respectively. The coordinates
of the point can be :

(1 (5.4)
) (5,0)
@3) (0.4)

@) (495



139.

140.

T el ® T ¥ W 125
H%S | 9™ Eh

164 % | 3T IR

(1) 5:4
) 25:16
(3) 16:25
(4) 125:64

HHfA 9 PS, «P & gafgwfom #@ & | PQ,
QS 3R SR #1 7 ®9 &M

P

0 30

141.

S
(1) QS, PQ, SR
(2) @S, SR, PQ
(3) PQ, QS, SR
(4) SR, PQ, QS
foe qien o sl iR wrefeal & siwa i waw:

60 3 65 © 1 afz g faenféai & oi &1 3hd 62
2, @ dgHl 3N wefEal 1 e § I B

(3) 122127

@) 562

34

139. Volumes of two spheres are in the ratio 125 : 64.

The ratio of their surface areas will be :

(1) 5:4

) 25:16

(3) 16:25

4) 125:64

140. 1 the fgure.PS biects ZP. PQ, QS and SR in

141.

e~

ascending order are :

?

To 3o

(1) QS, PQ, SR

(2) QS, SR, PQ

(3) PQ, QS, SR

(4) SR, PQ, QS

The mean marks of boys and girls in an
examination are 60 and 65 respectively. If the
mean marks of all the students in that examination
is 62, then the ratio of the number of boys to the
number of girls is :

(1 2:3

(2) 3:2

(3) 122:127

@) 5:62



142.

Ffa | AB || PQ @en CD || PS, @ QPR %1 A
Bt

R
>
a
¢ >
A 8
(1) 30°
@) 42°
(3) 52°
(4) 108°

143.

145.

fardt wex ° sweiftan #81 farn e 2 km & faw
Rs. 20 2 3 & W% km & U Rs. 6 1 79
&1 T g8 x km 3R @ fFrm Rs.y @ W aw
|HE0 T

(1) y=6x+38
(2) y=6x-8
(3) y=20 + 6x
(4) y=6x+28

. AR FR FM o9 Fifeqw w0 F g | 24°

sifus ®, @ %101 1 A e
(1) 14°
) 38°
(3) 46°
(4) 76°

14 cm e 3R 2 cm weE Al 20 FEER @
FTE B FR TH @A W TG SR 34 F
F S &% B

(1) 2992 cm?
(2) 3520cm?
(3) 4752 cm?
(4) 24640 cm?

142. In the figure, AB || PQ and CD || PS, then ZQPR

IS .
R
>
Q
« -3
A 8
(1) 30°
) 42°
3) 52°
(@) 108°

143. Autorikshaw fare in a city is Rs. 20 for first two

kilometers and Rs. 6/km for subsequent distances
covered. Taking the distance covered as x km
and total fare as Rs. y, the linear equation which
expresses the above statement is :

(1) y=6x+8
(2) y=6x-8
(3) y =20+ 6x
(4) y=6x+28

144. Ifan angle is 24° more than half of its complement

then the angle is :
(1) 14°
(2) 38°
(3) 46°
4) 76°

145. 20 circular plates each of radius 14 cm and

thickness 2 cm are placed one above the other to
form a cylindrical solid. The total surface area will
be :

(1) 2992 cm?

(2) 3520cm?

(3) 4752 cm?

(4) 24640 cm?



146. ABCD T gaT<rt 9q4« 2 fo@d AB = (2x + 6)

147.

148.

149.

cm, BC = 8 cm @1 CD = (x + 8) cm # | ¥HRR
9q4< ABCD =1 qftmrg ghm :

(1) 12cm

(2) 20cm

(3) 28 cm

(4) 36cm

AHI (2,9,x+86,2x+3,5,10,5) FAAT %,
A TAH TETF T

(1) 3

(2) 5

(3) 9

4) 10

ABCD T% TR & | Y1 AB W f= D & &
1 AB &1 gefgafaa w1 2 | wHagyds & ZD #

Ifg sl (1,4,7,16,27,29) 829 7 3, @
AT &N W FE H WFwT g ?

M

N[ =

N |-

(4) .
3

PQRS TF & 2 | fa= T &Mt U #7791 i PS

dQRF o fagE 1Ak TU s QS g 0 ™

gfaeds i A1 PQ = 8 cm &1, @ AOTS #1 &1 Twed

am :

(1) 4cm?

2) 8cm?

(3) 12cm?

(4) 16cm®

146.

147.

148.

149.

150.

ABCD is a || gm with AB = (2x + 6) cm, BC = 8
cm and CD = (x + 8) cm. The perimeter of || gm
ABCD is

(1) 12cm
(2) 20cm
(3) 28cm
(4) 36cm

Forthedata (2,9, x+6,2x + 3, 5, 10, 5) if mean
is 7, then mode is :

(1) 3
) 5
3 9
4) 10

ABCD is a rhombus in which altitude from D to
side AB bisects AB. Then ZD of the rhombus

Fromthedata(1,4,7, 16,27, 29) if 29 is removed,
the probability of getting a prime number is :

W

N -

(2)

Qi |-

Q)

4 L
@ 5

PQRS is a square. T and U are respectively the
mid points of PS and QR. If O is the point of
intersection of TU and QS and PQ = 8 cm, then
area of AOTS is :

(1) 4cm?
(2) 8cm?
(3) 12cm?
(

4) 16cm?
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